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RZUT PODDASZA

MIESZKANIE NR 1

Pu = 51.76 m?2 + 44.49 m?2 = 96.25 m?

ZESTAWIENIE POWIERZCHNI
parter mieszkanie nr 1
Nr Nazwa Pu
1.01 |wiatrotap 5.46 m?
1.02 |pom. gosp. 3.79 m2
1.03 |komunikacja 5.44 m2
1.04 |tazienka 3.44 m?
1.05 |kuchnia 5.07 m?
1.06 |pokdj dzienny 26.37 m?2
1.07 |kl. schodowa 2.19 m?

Razem: 51.76 m?
ZESTAWIENIE POWIERZCHNI
poddasze mieszkanie nr 1
Nr Nazwa Pu Pp
1.11  |komunikacja 4.43 m? 4.43 m?
1.12 |tazienka 4.87 m? 4.87 m?
1.13 |sypialnia 10.12m2?2| 1341 m?2
1.14 |sypialnia 11.45m?2| 1519 m?2
1.15 |sypialnia 11.64 m?2| 11.64 m2
1.16  |kl. schodowa 1.98 m2 1.98 m2
Razem: 4449 m2 51.52m?2

ZESTAWIENIE POWIERZCHNI
strych mieszkanie nr 1

Nr Nazwa Pp
1.21 |strych 36.17 m2
Razem: 36.17 m2
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